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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

The Sound Production Box is called - : u"q‘:f ,JthE; li T I/UI:* 1
Larynx IU’Q (D) Alveoli & Jugdi (C) Bronchi S 86 (B) Trachea & U2 (A) - (1)
The functional unit of Kidney is called : : 4._(3119'/ JB’!GW&_:/ (2)
Nephron (s % (D) Cortex ng’ © Neumn e (B) Axon ;J)/rf (A)

L}‘?LbLma.-dﬂJf,—ﬂy\_,j?d-;—f;Ld.l (3)

Processes that carry Nerve Impulses away from the cell body are
Myelin Sheath #27% (B) Dendrites oabd S (A)
Axons 7141 (D) Synapses prer g W (o)
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This Lobe contains Sensory Areas that receive impulses from Skin :
Temporal Ja;‘f (D) Occipital Jffu’( T (C) Parietal Ji@ (B) Frontal J&,b (A) ;
Some Bones Produce  : : ufr:}hu&): y i (3)
Mucous u/x.’ (D) Blood Cells A4 (C) Oxygen JF T (B) Hormones 74 (A) |

Male reproductive part of Flower is  : : e 27§ ;J.r'.',' (6)
Gynoecium (2°0¢ (D) Corolla 4/ (C) Androecium (sl (B) Calyx u‘p‘r a)

In Rabbit, Sperms are produced in g : S )-/'U:U?f; (7)
Urethra 1 (B) Scrotum NN :

Seminiferous Tubules JeU ¥~ (D) Seminal Vesicles Jlf-v_ﬁ_,da.n-_m ©
4.rm,r.>ifd£,l ;.mcg)fz;ﬁ,{uw gl (8)

DNA Wraps around Histone Protein and forms round structures
Nucleoside La:r:: (D) Nucleosome (rx’x (©) Nucleus ;f?:/r: (B) Nucleotide 22 (A) |

UTd-JLﬂL.JLA’:_rLH(U:U)blﬂJ v L;J’.(l_ 9)

Branch of Biology in which we study about Inheritance

Pharmacology ($#/i/6 (D) Genetics puSiisa (C) Ecology &/¢! (B) Physiology g7 (A)

Which Plant is not a Carnivores  : : 4.;_)‘-'."" K sy b (10)
Venus Flytrap .;.c/'dtliu':-s (D) Pitcher Plant ..:flJ;,é () Cactus Q-M(B) Sundew i (A)

Which one from these is an Antiviral Protein  : L e (UmENIBumLissledy | (11)
Thymosin ## (D) Interferon 321 (C) Urokinase #¥uy (B) Insulin 2 (A)
Joseph Lister introduce an Acid to clean the wounds : : wSaeindl Sedud L Az (12)
Hydrochloric Acid m..ﬁ;ﬁdfg (B) Carbolic Acid 20948 (A) :
g Nitric Acid 2% (D) Sulphuric Acid LS (©) B w- (05--«!-—!
' R e~ N —— th




(2015-17) to (2016-18) ¢~ |  SSC(Part-ll) |127 - 0|

i
48 AN E 1:45 5 |ewdosf oimes| SSC-A2018] (28D >aladl | §
ey 3 eble ens g G felin Lz (5-5) Edvra ik 4 Adv 213 S < 2 Avidie & s $
-;A.(;,A{,.;{.j!rfi.‘u_‘ Sonrbzni ) §s 1463z - S

Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. ..Lf/tzdfynd»ﬁu?. Jsto
What do you mean by Kidney Stone? Tq..:fft_fa. $A L Py (i) 24
Define Homeostasis and give an example. -g‘:dmﬁme{..gfﬁr?gn (i)
Differentiate between Renal Corpuscle and Renal Tubule. S IR Jnd s o FubRs (i)
| Write two bad effects of Smoking. i inl B (iv)
(What is Bronchitis? Write its symptoms. ) eluitey S v
Define Coordinators and give example. ‘ -g;dquﬁyﬂf J /B*LE” (vi)
Differentiate between Sensory and Motor Neurons. ?q..J/QLC gty sl (vii)
Write down the functions of Thalamus. S f)e £ SE wiii)
State the role of Skeletal System. -a{e@w;/ ¥ e S (i) 341
Differentiate between Origin and Insertion. _a;;w;u: A st Fenl (i)
Define Follicles. What is present its inside? Setblal gty /s § A (i)
Write down the main causes of AIDS. -&f;'f:.«[;ﬁ:d‘/. g ikl (iv)
What is meant by External Fertilization? Give an example. L e ARSI (v)
What is meant by Translation? Sl Ade il 5 (vi)
Differentiate between Monohybrid Cross and Dihybrid Cross. ~[/Z/0A% U/E204d13 s y/ddiiv (vii)
What is meant by Continuous Variations? Give an example. ,q,dv»_xj?q.;ygfc.‘.-,rjf (viii)
Define Species. GIwF $ s ) ey

Give two examples of each Ectoparasites and Endoparasites. - Jugl'f DX J Jﬁ’ 'tf!,a:i‘cf sl u"" Ivlﬁ}.(i (ii) -
Who produced Dolly and when? sl s i)
Which Enzymes are used to Cut and Attach the Genes? ?@Lnd&p‘-"f;‘:r@uﬁg‘gm Praes 7 (iv)

Wkt s Ve Ih A oy 57301 v)

When Human Growth Hormone was prepared and by which Micro - organism?

Which means are used for Medicinal Drugs? ?ug(‘jkd",}’bc-gbjc}rdr&gul (vi)

Write the use of Diamorphine. U ¥ A (vii)

Define Vaccines. | LlaP k(i

(9242

(5) Give Osmoregulatory Function of Kidney. -J./ugfdﬂfxﬁl Y () SAU!‘)’
(4) Explain Reflex Action. Sl § u“ghf‘g‘} (<)

5) -qfuyﬁécﬁ*g L@ur?‘;.;ygc_g‘-"’c () 64U

What is meant by Skeleton? Describe the components of Human Skeleton.

(4) Write four types of Natural Vegetative Propagation. -{J/’:/];FLJD?JMJJ#M&J S8 (&)
11(5) Describe the effects of Water Pollution. ua-,ifyg«.-.-.l.irﬁ&/qu () 740y
(4) Describe two types of Fermenter. -L[/c)L:rP—l i JJ, A7 (L)
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Note : Four possible choices A,B,C, D to each question are given, Which choice is correct, fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
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The amount of Carbondioxide in Expired Air is (1)
0-04% (M 1% @ 4% @ 2% (A _
The maintenance of Intérnal Body Temperature is called £ 4.er€9! .:-;f/;_wduﬂz.(: (2)
Excretion u’*ﬁl (B) Osmoregulation U’JJEJ)‘?I (A)
Homeostasis J_j'fn (D) Thermoregulation u’-‘-%r} ©)
| The length of Spinal Cord is about eOn L S L (3)
| 40 Inch (D) 40em (O 40nm (B) 40mm (A) |
The example of Stimulus is q_df‘/ § SR @
Muscles  #~ (D) Cold Sy (C) Brain Ly (B) Ear ¥ (A)
Which Disease can be caused due to deficiency of Estrogen Hormone :  : 4_65,4;5;@@!4.0@;1,’4%%15 5)
| Osteoporosis u/ug‘é’sl (B) Gout 238 (A) -;
; Osteoarthritis AT (D) Rheumatoid Arthritis JIATY, (©)
Which animal is not able to reproduce in summer months : : bﬂfd?ﬁﬁs@:pﬂuﬁ'&tff;‘»’lgw;f (6)
Cat d (D)Rabbit W7 (C) Dog 7 (B) Monkey &k (A)
In which process of reproduction Buds are produced : B &0 S < g)y},‘(_;; 3pJ (7)
Regeneration o228 (B) Fragmentation _r-'-'-,,-iu-fg_,-l (A)
Binary Fission SUA (D) Budding 5 (O
Lnthrr PIL Lo tf oy S -9 -3 (8)
In Four O Clock Plants which colour Allele does not present
Black ¥ (D) Pink (¥ (C) White 4 (B) Red {, (A) :
B 2Pty E s L LW u:‘}Jugé )
How many Hydrogen Bonds are present in between Cytosine and Guanine !
4 MM 3 @ 2 ® 1
The thickness of Biosphere is about : : L:./"7 & JL‘:’ J,l.pm,._:.ab (10)
(KM) %% 30 (D) (kM) £ 25 (O (KM) 2F 20 (B) (KM) ¥ 15(a)
The Enzyme used for joinilng Gene is : : 4.#:@&""‘!&5'453 Iz rf"f'-' (11}

Endonuclease zl(f;’u’?} (D) Amylase )JJU (O Ligase [Ju (B) Lipase adv(a)
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Reduce the possibilities of Infections on Skin : : .:,'..Jff:-.-;tk}!ﬁ i) o A

Antiseptics wﬁ-&w}-ﬂ (B) Antibiotics S (a)
; g Disinfectants ‘_pm.i‘.nllwﬁ (D) Analgesics gaSa Jul (C) B’“‘Q’
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part I, Write same Questions Number and its Part No. as given in the question paper.

| 30 = 2x15 Make Diagram where necessary. LB o Jslo -1 ‘..} j ‘,V-

Write four symptoms of Bronchitis. ..u.‘.'{*.mtua;,b J U"'{Iﬁu (i) 2 )y
What is meant by Epiglottis? | Sl e ud?:uy'u (i)
Differentiate between Guttation and Dew. LLSONL P 2 )
Differentiate between Renal Cortex and Renal Medulla. -L[fukJ)uf Usjgdax ¥ JE,:SU'ZJ (iv)
What is meant by Lithotripsy? 1‘4.:!;5! e (v)
Where Midbrain lies? Write down its function. _é.'!?'b’ ¥l Tq.rﬂgbulfc)_‘.:i (vi)
What is Nerve? Write name of its three types. _ YL OIS 57 (vil)
What is Spinal Cord? Give its length. I -u_"qu_JJw?‘,-_g L(fl‘g (viii)

“LENOALIA 1 Fodl £ Joun i (1) 3

Differentiate between Origin and Insertion in Skeletal Muscle.

Define Antagonism. ..4:.577 g e i)
Describe the process of Reproduction in Hydra and Corals. LIS Phops £ A i3z i)

..g:vu‘gﬁ'»{fdf?q_g}né L:;Gﬂg--' .‘,f_.siﬁ}).\a,gﬁu::{ (iv)

How Reproduction of Plants take place by Bulbs? Give any two examples.
What is Micropyle? Describe its function. _ -@kd; (W q-Lf Jlu?t (v)
“obr S iy gl Jﬁr‘uﬁof@diﬁ_z_!.u_ﬂ..di (vi)

Enlist the Nitrogenous Bases present in Double Helix of DNA.

Define Mendel's Law of Segregation. ..4:1.!/‘7 J &deﬁﬂﬁdi? (vii)
Differentiate between Breeders and Cultivar, ?q.u-/([yf Jb&b’v sl Sk 4 (viii)
Write Biotic and Abiotic Factors of Ecosystem. -uﬁ';g.e‘fga.u sl .ﬁﬂ.ﬁ("f I (i) 4/.‘U'r
What are the effects of Air Pollution? S WS (i)
What is meant by Genetic Engineering? ?q..Jl/Q’aphﬁMim; (iif)
For which purposes Microbes are used? ?4.C¢i;l,_1’db""iiﬁyli’cd;( P (iv)
What is the use of Thymosin? ?q..dln:’f_u'i’u'fﬁ (v)
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ety sk sty £ i i)
What are the effects of Hallucinogens? Write name of one Hallucinogens. )
St Lugiedz 5 S0/ UAS it (vii)
How Cephalosporins waork? For which diseases these are used?
Which medicines are used for Lowering the Blood Pressure? S e el L N7 I 20 (viii)
(2247 :
(5) Explain the types of Dialysis. ol sl U () 5 A
@) Explain the Thyroid and Adrenal Glands. 7 SN S BRPE N R )
(5) Explain the components of Human Skeleton. -Q/MDJJU:’LLVHL Lyt () 641y
i) LANE S 9 £ 2Saan sty o siaan ()

Describe the two methods of Artificial Vegetative Propagation.
(5) Describe the effects of Water Pollution in detail. -Q.fuyc.cab‘::.!}lﬁ&:‘f@' () 7/-_:Ulr
@) : L PSRt e L it (L)

Describe the important Industrial Products which made by the help of Fermentation. gw p"[&-— 2 ~\GF
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